RWS 1.2-1.4, 1.7, 1.10						Name:_____________________________
A									Date: ________________	Pd:________

1. 
[bookmark: _GoBack]Express in terms of inequalities:  .
RWS 1.2-1.4, 1.7, 1.10						Name:_____________________________
A									Date: ________________	Pd:________

2. 
Evaluate:   
	
Simplify:
3. 


 			4.  				5.  



6.  					7.  

Factor Completely:
7. 
 3x3 – 21x2 + 4x – 28			9.  100z4 – 81x2			10.  

11. 


 			12.   		13.  

Solve.  Write your answer in interval notation for #14 – 16.  



14.  				15.  			16.  



17.  12x2 = -8x + 20				18.  		19.  


20.  Find the equation of the line that goes through  and the midpoint of (1, 7) and (-3, 9).

21.  Find the equation of the line through (-1, -2) and is perpendicular to the line 2x + 5y + 8 = 0.
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